BFHAAKBTFER) TR

@A )—4
EEKA | IGEXC | IEIAB | lLAXC R =l JIE 5z
] LU P FL K ZEA 3-1 3-0 3-0 3 0 1
L& XK¥C 1-3 3-0 3-0 2 1 2
[LEIXXR¥B| 0-3 0-3 2-3 0 3 4
IO X%C 0-3 0-3 3-2 1 2 3
@B!)—/
EEAB | IBI KA | IGEXE | ILOXD f§ a8 JIE 52
R LLI 7 7L K 5B 3-0 3-0 3-1 3 0 1
IREITEKRFEA| 0-3 3-1 3-1 2 1 2
L& K¥E 0-3 1-3 1-3 0 3 4
O X%D 1-3 1-3 3-1 1 2 3
@Cc')—5
FEMEE | BEXA | BEXAB | LEXD i & g 3z
LEEREE 1-3 3-0 3-0 2 1 1
BIRKEFA 3-1 2-3 1-3 1 2 4
[LEBEXREB| 0-3 3-2 1-3 1 2 3
[LEXR¥ED 0-3 3-1 3-1 2 1 2
@D!)—/
[REXRA| #8IUX | ILOXB | &&XC B =l JIE 432
L& KEA 3-0 3-0 3-0 3 0 1
Rl XE 0-3 0-3 0-3 0 3 4
O X8 0-3 3-0 3-0 2 1 2
[LEISEKXREC| 0-3 3-0 0-3 1 2 3
®E)—5
IO XA | [EEXB | 18EAD | [LBXG fgs =l g 3z
IO XZEA 3-0 3-0 3-0 3 0 1
L& K¥B 0-3 3-0 3-0 2 1 2
[LEBEKRED| 0-3 0-3 3-1 1 2 3
[LEXREG 0-3 0-3 1-3 0 3 4
or)—,
FEILK | 1BEKXA| B KB | [LEXKF i =l g 3z
ElTp N 0-3 3-0 3-0 2 1 2
[LEBEKREA| 30 3-1 3-0 3 0 1
EiRKFB 0-3 1-3 2-3 0 3 4
55 KFF 0-3 0-3 3-2 1 2 3




B FEARERR b —F Ak

Al EILEFR KA

E1 ILOXKEA

D1 [AEXKZEFA

Cl LEEMS

FI LEEEXFA

B1 MILEMKXFB




BFOUTIINAFEFT AV No. 1

A D

1 AtEF  (HFEK) =— 1T HFE  (HEXK) =—
2 #HK (BHEKX) — 2 & (wmAx) —
3 BEFR (EEK) = 3 #18 (LBK) =
4 WA (BEX) — 4 FH (REX) —
5 KR (LREXK) = 5 FHFE (UAKXK) =
6 @i (uAxX) — 6 2 (GIXK) —
7 kBHF (BEKXR) — 7 ®HFH  (BERX) —
8 MH (AIK) =l 8 HFE (LEK) =
B E

1 &Hil (GBX) = T fiEE  (JREXK) =—
2 IpR (BIKR) — 2 ER”RK (BEX) —
3 M/NE (REBX) — 3 #H (EBEXR) —
4 Bt (UAX) = 4 WFE (LUAX) =—
5 & (FEIFER) — 5 Kfi (FEK) =
6 M (RBEX) — 6 ®F (KEX) —
7 ZRA (BREX) 7 <K (UAX) —
8 AH (BREX) — 8 BEBAXR (BIEX) =—
C F

1 g (REIUK) m— T B (RS E) =—
2 {EE (ERX) — 2 M (RBXR) —
3 B (RBX) —] 3 B (BIRX) —
4 MR (BIRRK) m—d 4 BNl (BERXK) =
5 Fih (REK) = 5 ®FH (RIX) —
6 FEE (UAX) — 6 AR (LEXK) =i
7 EE (EBXK) — 7 fRE (fBIUXK) —
8 BEH (UBEX) 8 @Wx (UAX)




BFUTIIAFTES—F AL No. 2

G J

1T MR (RS E) =— 1 BH (GIXK) ==
2 fHE (RIX) — 2 WX (EBXR) —
3 MK (EBX) = 3 BE#M  (&EILX) —
4 BHHF @WAX) — 4 BE (EBEX) =
5 ik (BIRX) = 5 KB (BIURK) m—
6 FN (uAXx) — 6 SFE  (LWAX) —
7 AL (REWR) — 7 BA (f&WUX) —
8 IRE (LBEK) == 8 dthp (GEX) ==
H K

1 WmE  @EX 1 HE @EEX

2 fRA (WLAX) — 2 ZTH (uAX)

3 WM (EBXK) — 3 KH (EERK) =i
4 JIF  (JEIRK) =i 4 BHE (LEKXK) =
5 REB (LRBEKXK) = 5 g (EIX) —
6 )il (LAX) — 6 #F (LBEX) —
7 RN (EREE)— 7 BIR  (UAX) =—
8 FEHE (BIRXK) =

I L

1 B (GBX) = 1 RE  $BUXR) —
2 #HFB  (AEX) — 2 K& (BEX)

3 +& (WAX) — 3 HE (REKXK) =
4 WX (EAReE)=— 4 A (BRX) —
5 FEIl (B#RX) — 5 FRE (LEK) =
6 EK (EBEX) 6 S8 (LAX) —
7 KX (EBX) — 7 KB (REK) =—
8 =H (FWLX) =1




BFIATILRFE—F AL

A D

1 {LEE-FHRE (LEBX) 1 kEF-HiE (@EEX)
2 REF-RBE (JRLUX) 2 INEREE (BEX)
3 HmE-EAKR (LAX) 3 ZERA-HEF (BEX
4 ER-FHt (GBX) 4 EXRJRER (EBX)
5 EM-BR #RWLX) 5 EH-AIL  (@EWlX)
6 ZTH-FA WAX) 6 ANI-SFE (LA X)
7 BEX-HE (BEX) 7 MHE-fB (GIX)
B E

1 KE-HE (@E@EX) 1T HMe-XE (@WX)
2 AR-WME (BBEX 2 MH-BHF (GEX
3 BE-#HK  (BERX) 3 Mi-+&  (uAX)
4  FE-WE  (WOX) 4 WAE-FE  EEX
5 ##E-HRE (EEX) 5 WmA-M  (EEX)
6 RIF-#HE (EIX) 6 T - 78 (A x)
7 MA-LA  (EREHE) 7 BE-BRE  (KBEX)
C F

1T BiR-#Eox  (uRXx) 1 =PI (IREX)
2 IMg-EF (BBEX) 2 FIH-EH  WOX
3  EEH-HEHF BEX 3 Aia-7& (R X)
4  FEE-EE  (BBEX) 4 BH-#85 (GIX)
5 EpE-/MR  (BERX) 5 XH-Z® (BBX)
6 JIF-/E (BIX) 6 KA-WWKX (EBEX)
7 BRI (EREHE) 7 BEE-FEI (BERX)




Al

I

H1

E1

L1

D1

BFIUTIIWRRBN—F AR

L%

(FARER)

J$ L
(LEX)

Frep

s

(FARER)

fliEE
(LEX)

KAk
(FARER)

FE

(R LK)

1S3k
(lAXx)

i

(AMEHE)

I (1
(AMEHE)

(FARER)

BE

(LEX)

= [

(LEX)

BFITILRARBEN—F AE

A1

E1

D1

C1

F1

B1

fILEE - HFH
(LEX)

pRE- R
(LEX)

3% - L7
(FEEX)

1S3 - T
(A x)

i - AL
(LEX)

RRTES
(AMmEHE)

C1

K1



T F AT R

@A )—4
LAX [[EEXRA| £ X B =l =L
AxXE 3-2 3-0 2 0 1
IN= =27 2-3 3-0 1 1 2
THZFKRE| 0-3 0-3 0 2 3
eB)—,
FX | BOK |eusex| a8 [[=Liva
A LU K 0-3 3-0 1 1 2
BDEFKX 3-0 3-0 2 0 1
BILEXR 0-3 0-3 0 2 3
@c)—5
[LEXRB| EBEX | B Bz a8 [[=tiva
L& XK¥B 3-0 3-1 2 0 1
LEBEEXRE| 0-3 2-3 0 2 3
EBRTF—LA 1-3 3-2 1 1 2
TFEERBN—F AV
Al IO X 2

Bl BD&EFKRE

Cl1 [LEX%*¥B




BFUTIWRAFE—F AV

A D
1k (AER) — s, 1 fEH (AR —
2 MR (—RLAE L= 2 %O (BRA) =
3 BB ox 3 #O0  (EBX)
4 BE (BB =5, 4 EE - L —
5 B (RIEX) 1_1-5 5  AF  (EBRN) —
6 HR  (REA
B E
1 E (FRR) =— | 1 OEE (LK) —
2 T (REK) ﬂ_ 2 B (EBX)
3 B @R 3 BE R
s BRE (EBR) =3, 4 & BEX) —
5 %HE (WA X) ﬂ 5 B (KRR —
6 ¥  BREAN —
C F
| R (RBR) =, 1 B (U—RLEL)
2 &% u—mu)ﬂ_ 2 K® (EBX)
3 mO (BEX 3 k& (EWLKR
4 EEB ek =, 4 R WwOox
5 EE (KB 5 WEH (BN
6 BE (LR
RFIUT IVRER—F AL

Al EREEX) 2
E 1 INTON-PN) - -
D1 S A=PS - ‘
C1  BEEUEEX) & — ;
F1 HEEF (BIRXK)

0 2
B 1 =F(L5X)




ZFITIAFE)—D

OA)—
EE-BE|BA-ZE |BE-XE| TE-WER| B | & JIE 132
AE-8EILEX) 3-0 3-1 3-0 3 0 1
BAR-FEQWWAX) 0-3 3-1 3-0 2 1 2
B8] - K = (R LU oK) 1-3 1-3 3-0 1 2 3
TiE- LR (R & X) 0-3 0-3 0-3 0 3 4
@B!)—5
BKk-ER | NE-RA | FR-2B (2% MRL| B | & (=L
fax - HREEX) 3-0 3-0 2 0 1
N=EEN(IN=PN) 0-3 3-0 1 1 2
EHE-SELWAX)
&8 MRILC/—FILE L) 0-3 0-3 0 2 3
@c)—J
ATH-ERE | HR-%0 | EBO-XKE [ EH-BO| B | & JIE 42
HITE - R B (RE LU K) 3-0 3-0 2-3 2 1 2
HR-#2O0FLX) 0-3 2-3 3-2 1 2 4
EO-KEB(LEEX) 0-3 3-2 0-3 1 2 3
EEF-BIO(BEX) 3-2 2-3 3-0 2 1 1
@D)—-
B R | fRA-HE | SH-5H fg§ 8 | &Gz
EH - EE/—MLA L) 0-3 3-1 1 1 2
fBH-FEEOLOX) 3-0 3-1 2 0 1
BH-BH(EEX) 1-3 1-3 0 2 3

TFFTTIWARBN—F AT

AT AE-BE(LEX)
D1 &F - EEL O X)
C1 HEFF - B O (B4R X)
B1 &K - T R(EEX)

3




